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She is acquired in marriage — DRW

OVERVIEW

In this 71wn the term PXW1 is used in a passive form (?¥91 - intransitive verb) ‘the
77102 is married’, and not in the active form (9v1), ‘one marries a 1779n2°. Our
mooIn discusses this matter.

Mmoo responds to an anticipated difficulty:
= 29179 48PN NNYY 29 (x,xn 97 purtp) YWTPN WIRD 1D 1NDINAN NN PRYI NP NYT XD

The 73w does not teach, ‘one marries a 779102’ (in the active form), like another
mawn, which reads wTpn wIR (also in the active form), but instead states 7102
nXw1 (in the passive form), because now the 71w is more brief® -

mooin offers an alternate explanation:
- 4PN H¥a 199N NN NN 221 NN INT TN

And additionally, if the 72w» would have taught this way (771027 nx Rw), 1

may have thought that he may marry her even against her will, -
= 57139 WINN 2IND) 79999 RN 22) (3,3 970v) 2IUNTH

As the Xm1 answered regarding that which was asked, and let the mw» say,
a1 WONA, instead of n21p1 nwWRA?

Moo offers one more answer:
TAYN YWIN NP 93 HRP NIPN ONNT T
And furthermore there by w7pn WX he is basing it on the P15 of wWSK 1pPs 55

AWN (which is written in the active form) therefore the mwn also writes wpn WK1, however

' The active form of 77127 nX 7Xw1 describes more accurately the XWw») process, which requires active
participation of the husband who acquires his wife in marriage. The passive form of nxw1 72102 is seemingly
inadequate. MOIN cites the 7awn of wIpn WK to prove that the Xin uses active language in the marriage process.
[Alternately, m»oin is basing his question entirely on the 7wn of wpn wWoRA.]
2 pxw1 79102 (two words) is more brief than 791n27 NX PR (three words); however wWpn WKA is not more lengthy
than nwTpnn AWK (it even has (two) less letters).
3 There is an advantage in teaching 77%p 1W?2 in a brief manner (see 2,3 2°10D).
4 See ‘Thinking it over’ # 1.
5 The xn3 there explained the reason the mwn begins with n°1p1 Aw and not AP woR7, because 1P wKi can imply
that he can acquire her even against her will (which is not true), therefore the m1wn writes n*1p1 nwR (which implies
that it is dependent on her consent to become nwTpn). Similarly here, writing nXw1 72102 instead of 721277 DR PRYW
assures us that she can be married only with her consent.
6 x,77 (XxN) 0™27. See previous 72 7"7 ' [TIE footnote # 2].
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here since there is no basis in the P10, the f3wn chooses to write nXw1 77102,

SUMMARY

Three reasons why the mwn writes DRW1 79102 and not 721027 DR PRI it is briefer,
it implies her consent, and there is no 109 to require otherwise (as opposed to W X7
wIPn).

THINKING IT OVER

1. mpoIn second answer is that 773027 PR 1°Xw1 would indicate that it may be 2"va.®
Why indeed then does the 71wn write Wipn ¥R, which also seemingly implies that
it can be done nm> Hya?!?

2. moon third answer is that by wpn Wk we can say that *Xp XIpX.!10 This seems
to explain why the mwn there writes wpn WX, however it does not seem to
explain why here the mwn writes NRW1 77102 instead of 7910277 NX PRwN?!H

" See ‘Thinking it over” # 2.
8 See footnote # 4.
? See R"wAn.
10 See footnote # 7.
' See footnote # 1.
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